## भारतीय प्रबंधन संस्थान नागपुर

Price bid part-II

## INDIAN INSTITUTE OF MANAGEMENT NAGPUR

## Tender No. IIMN/CAO/17/2018-19 dated 21/01/2019

## Name of work:Decoration work & event management services for launching ceremony of IIM Nagpur at MIHAN Permanent campus

Name of Bidder:

Sr.no	Description	Size	Unit	No. of days	Cost per unit	RATE in words	Total
А	Production Services						
1	Decorative Pillared pendal for main function area with new cloth and decorative textures of size 200' x 100'	20000	Sq.ft	1			
2	Green matt with acrylic carpet of size 200' x 100'	20000	Sq.ft	1			
3	VIP lounge canopy for food with new cloth and decorative textures of size 75' x 75'	5625	Sq.ft	1			
4	Green matt with acrylic carpet of size 75' x 75'	5625	Sq.ft	1			
5	General food area canopy of size 100' x 100'	10000	Sq.ft	1			
6	Green matt of size 100' x 100'	10000	Sq.ft	1			
7	Kitchen food area with pendal and general finish of size 25' x 25'	625	Sq.ft	1			
8	Entry façade with decorated for VVIP & VIP as per the theme	1	No	1			



Sr.no	Description	Size	Unit	No. of days	Cost per unit	RATE in words	Total
9	Entry pathway with coth finish and ceiling of size 20' x 100' for picture portrait with frames	2000	Sq.ft	1			
10	Entry pathway acrylic carpet of size 20' x 100'	2000	Sq.ft	1			
11	Plastic chairs with cover for general sitting	800	No's	1.5			
12	Steel sofa for front row sitting	40	No's	1.5			
13	Leather sofa for stage sitting	8	No's	1.5			
14	Round table at VIP Lounge	20	No's	1			
15	Round table for sitting at General food area	20	No's	1			
16	Round high table at general food area	20	No's	1			
17	Banquet chair at VIP Lounge	160	No's	1.5			
18	Plastic chair at General food area	160	No's	1.5			
19	Console of size 20' x 4'	1	No's	1			
20	Stage of size 48' x 32' x 3'	1536	Sq.ft	1			

Sr.no	Description	Size	Unit	No. of days	Cost per unit	RATE in words	Total
21	Wooden podium with new polish	2	No's	1			
22	Centre backdrop with integrated LED wall on stage with a total size of 40' x 9'	360	Sq.ft	1			
23	Side wings of size 4' x 9'	72	Sq.ft	1			
24	Podium branding of size 3' x 2'	12	Sq.ft	1			
25	Box gate at entrance	2	No's	1			
26	Green net on outdoor floor	30000	Sq.ft	1			
27	Chemical toilets for VVIP and VIP	7	No's	1			
28	General barricading of 1000 rft	1000	Rft	1			
29	Flags on pole for area marking	20	No's	1			
30	Samai with floral décor and diya, matchbox, oil etc	1	Lumsu m	1			
31	Plaque inauguration system with curtains	1	No's	1			
32	Bhoomipujan accessories	1	Lumsu m	1			
	General siding as per the requirement of 1000 RFT	1000	Rft	1			

Sr.no	Description	Size	Unit	No. of days	Cost per unit	RATE in words	Total
34	Steel baricading for VVIP zone in event area of size 100' RFT	100	Rft	1			
35	Stand for Model placement	1	No	1			
В	Flower Arrangement						
1	Floral arrangement on stage border of size 50'	50	RFt	1			
2	Floral arrangement on podium	2	No's	1			
3	Boquets for VIP	25	No's	1			
С	Signages						
	Road signages with flex and frames of size 3' x 2' and stand/ hanging arrangement	50	No's	1			
2	Large signage on significant location of size 8' x 8'	64	Sq.ft	1			
3	Internal signages on vinyl foamsheet	50	No's	1			
4	Parking area marking with lime stone	1	Lumsu m	1			
D	Power Services						
1	125 Kva Genset with diesel for event	1	No's	1			
2	25 Kva Genset with diesel for set up	1	No's	2			
E	Event Services						Signature of bido

with seal

Sr.no	Description	Size	Unit	No. of days	Cost per unit	RATE in words	Total
	Security gaurds at venue for crowd management	20	No's	1			
2	Parking staff	10	No's	1			
3	Ceremonial Gaurds	8	No's	1			
	Invitation card (Single side) 300 gsm designing and printing with envelope of size 6"x8"	600	No's	1			
	Invitation card delivery at various locations in Nagpur	600	No's	1			
						Grand Total	

1)If extra quantity / material will be required during arrangement of Tent decoration same will be paid to vendor extra as per actual

2)All rates are to be quoted excluding the GST applicable. The GST will be paid in addition to the total amount payable.

3)The above quantity may vary as per actual requirement of Site.